
498500 - TS 55 REBQ 230V

страница 1 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



Pos Teile-Nr. Benennung Menge Preis 
ohne 
MwSt

Preis inkl. 
MwSt

Lager-Code Garantie

1 491743 Anker 230V  EQ / EBQ 1 85,18 EUR 101,36 060-H1 -503 Ja

10 463102 Gegenflansch 1 0,96 EUR 1,14 060-RR-603 Ja

11 10004684 Spannflansch 1 7,71 EUR 9,17 Ja

12 10000418 Keil 1 4,99 EUR 5,94 065-F1-901 Ja

13 466031 Linsenschraube M5 x 16 2 0,60 EUR 0,71 Ja

14 10000164 Blechsegment 1 4,25 EUR 5,06 Ja

15 499281 Schutzhaube 1 44,46 EUR 52,91 065-F1-903 Ja

16 10014432 Winkelstück 1 4,40 EUR 5,24

17 400014 Senkschraube 4,0 x 10 mm 5 0,60 EUR 0,71 010-LL-404 Ja

18 10001569 Tiefenanschlag 1 13,18 EUR 15,68 065-F1-904 Ja

19 10002634 Bolzen 1 2,16 EUR 2,57 055-PP -202 Ja

2 491713 Feldpaket 230V  EQ / EBQ 1 42,96 EUR 51,12 095-B2 -403 Ja

20 459181 Bundbuchse 2 0,65 EUR 0,77 Ja

21 499283 Getriebegehäuse 1 55,54 EUR 66,09 065-F1-905 Ja

22 410223 Nadelhülse 1 2,45 EUR 2,92 Ja

23 228798 Rillenkugellager 1 3,14 EUR 3,74 010-PP -603 Ja

24 459225 Druckfeder 1 0,60 EUR 0,71 Ja

25 459224 Rasthebel 1 0,65 EUR 0,77 060-RR-104 Ja

26 459229 Hebel 1 1,68 EUR 2,00 060-RR-702 Ja

27 499012 Sichtfenster 1 3,72 EUR 4,43 065-F1-901 Ja

28 481984 Drehknopf 1 1,31 EUR 1,56 065-F1-901 Ja

29 499011 Splitterschutz 1 11,80 EUR 14,04 065-F1-901 Nein

3 491703 Schalter 230V 1 12,10 EUR 14,40 060-RR-101 Ja

30 462760 Mutter 1 1,50 EUR 1,79 065-F1-901 Ja

31 228567 Linsenschraube 4,0 x 20 mm 1 0,60 EUR 0,71 045-MM -308 Ja

32 10000568 Zugfeder 1 0,60 EUR 0,71 Ja

33 453547 Bundschraube 2 0,60 EUR 0,71 Ja

34 459226 Softgriff 1 4,66 EUR 5,55 060-H1 -605 Ja

35 400695 Linsenschraube 4,0 x 25 mm 8 0,60 EUR 0,71 060-RR-201 Ja

36 459185 Lagerflansch 1 9,42 EUR 11,21 055-PP -604 Ja

37 459253 O-Ring 1 0,60 EUR 0,71 Ja

38 219031 Linsenschraube 3,5 x 10 mm 2 0,60 EUR 0,71 Ja

39 490438 Electronic 230V  EQ / EBQ 1 45,10 EUR 53,67 060-H1 -304 Ja

4 489421 plug it-Kabel EU 1 17,80 EUR 21,18 070-B4-702 Nein

41 459222 Rastbolzen 1 1,06 EUR 1,26 060-RR-102 Ja

42 401244 Sicherungsring 1 0,60 EUR 0,71 Ja

43 401576 Rillenkugellager 1 5,06 EUR 6,02 055-PP -302 Ja

44 495798 Getriebewelle 1 25,41 EUR 30,24 055-PP -603 Ja

45 459254 Zylinderlager 1 1,11 EUR 1,32 Ja

46 459188 Zapfen 1 0,85 EUR 1,01 060-RR-103 Ja

47 459187 Druckfeder 1 1,29 EUR 1,54 060-LL-703 Ja

48 10007029 Griff 1 10,95 EUR 13,03 060-H1-603

49 459199 Ventilator 1 1,90 EUR 2,26 055-PP-702 Ja

5 491716 Steckergehäuse 230V 1 6,57 EUR 7,82 060-MM-312 Ja

50 488965 Magnetring 1 1,77 EUR 2,11 Ja

страница 2 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



51 401525 Rillenkugellager 1 2,92 EUR 3,47 055-PP -303 Ja

52 228708 Linsenschraube 4,0 x 60 mm 2 0,60 EUR 0,71 Ja

53 459179 Luftführungsscheibe 1 1,62 EUR 1,93 060-LL-704 Ja

54 459255 Sechskantschlüssel 1 1,17 EUR 1,39 Nein

55 459176 Motorgehäuse 1 13,32 EUR 15,85 060-H1 -604 Ja

56 491722 PTC-Widerstand 1 8,37 EUR 9,96 075-A5 -402 Ja

57 10002348 Schraube 4 0,60 EUR 0,71 Ja

58 491704 Kohle (Paar) 230V 1 10,56 EUR 12,57 095-B2 -503 Ja

59 219047 Linsenschraube 3,5 x 8 mm 2 0,60 EUR 0,71 Ja

6 400710 Schraube 4,0 x 15 mm 5 0,60 EUR 0,71 Ja

60 491723 Tacho EB / EBQ 1 11,88 EUR 14,14 095-B2 -502 Ja

61 491718 Deckel 1 7,91 EUR 9,41 060-MM-711 Ja

62 500430 Spindelstop 1 20,05 EUR 23,86

63 500431 Hebel 1 13,05 EUR 15,53

64 459195 Drücker 1 1,67 EUR 1,99 060-MM-512 Ja

66 459220 Silikonscheibe 1 0,60 EUR 0,71 Ja

67 10001354 Drehknopf 2 1,87 EUR 2,23 065-F1-905 Ja

68 402935 Scheibe 2 0,60 EUR 0,71 Ja

69 10009124 Schwenksegment 1 7,55 EUR 8,98 065-F1-905

7 499323 Deckel 1 28,48 EUR 33,89 065-F2-903 Ja

73 10000160 Spannschraube 2 1,04 EUR 1,24 065-F1-905 Ja

74 10000916 Leiste 2 1,77 EUR 2,11 Ja

75 10000149 Segment 1 4,98 EUR 5,93 065-F1-905 Ja

76 10014865 Zylinderschraube 4 0,75 EUR 0,89

77 494588 Gleitplatte 1 9,21 EUR 10,96 060-MM-612 Ja

78 495035 Stellrad 1 11,62 EUR 13,83 060-MM-409 Ja

79 499282 Führungsplatte 1 51,28 EUR 61,02 065-F2-902 Ja

8 466084 Feder 1 0,60 EUR 0,71 Ja

9 459186 Senkschraube M8 x 18 1 0,60 EUR 0,71 Ja

страница 3 от 3

26.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...


